

۱۱

$$1 + 2 = 3 \rightarrow 1! + 2! + 3! + \dots + 25! + 26! + \dots + 100! + 101! + \dots$$

بمعبر چون ملاطفت دارد
یکبار صفری شد

یکبار ۱۱

یکبار ۲۱

یکبار ۳۱

یکبار ۴۱

یکبار
حاصل شده

= ۲

$$1 + 2 = 3 \rightarrow 1! + 2! + 3! + \dots + 25! + 26! + \dots + 100! + 101! + \dots$$

۲۱

$$\sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}} = \sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}} = \sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}}$$

$$= \sqrt{\frac{1 + 2\sqrt{1}}{1 + \sqrt{1}}} = \sqrt{\frac{1 + 2\sqrt{1}}{1 + \sqrt{1}}} = \sqrt{2}$$

$$= \left(\frac{\sqrt{2} + \sqrt{1}}{\sqrt{1} + \sqrt{1}} \right) \left(\sqrt{2} - \sqrt{1} \right) = \frac{\sqrt{2} - 1}{2}$$

$$= \frac{\sqrt{2} - 1}{2} = \frac{\sqrt{2} - 1}{2}$$

$$= \frac{\sqrt{2} - 1}{2} = \frac{-2}{2} = -1$$

۳)

$$\sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}} = \sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}} = \sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}}$$

$$\frac{1}{\sqrt{2} - 1} = \frac{1}{\sqrt{2} - 1} = \frac{1}{\sqrt{2} - 1}$$

$$\frac{1}{\sqrt{2} - 1} = \frac{1}{\sqrt{2} - 1} = \frac{1}{\sqrt{2} - 1}$$

$$\frac{\sqrt{2\sqrt{2}-1}}{2+\sqrt{2}} + (2-\sqrt{2})^{-1}$$

$$\frac{(\sqrt{2}-1)(2+\sqrt{2})}{2+\sqrt{2}} + \frac{1}{2-\sqrt{2}} = \sqrt{2}-1 + \frac{1}{2-\sqrt{2}}$$

$$= \frac{(\sqrt{2}-1)(2+\sqrt{2})+1}{2-\sqrt{2}} \times \frac{2+\sqrt{2}}{2+\sqrt{2}} = \frac{2\sqrt{2}-1+2+\sqrt{2}}{2-2} = \boxed{2\sqrt{2}+1}$$

$$\frac{\sqrt{1+\sqrt{2}} + \sqrt{\sqrt{2}-1}}{\sqrt{\sqrt{2}-\sqrt{2}}}$$

$$A = \sqrt{1+\sqrt{2}} + \sqrt{\sqrt{2}-1} \quad \text{مربع الطرفين} \quad \sqrt{2}+1 + \sqrt{2}-1 + 2\sqrt{(1+\sqrt{2})(\sqrt{2}-1)}$$

$$= 2\sqrt{2} + 2\sqrt{2} = 2\sqrt{2} + 2\sqrt{2} = 2\sqrt{2} + 2\sqrt{2} = 4\sqrt{2} = A^2$$

$$\Rightarrow A = \sqrt{4\sqrt{2}}$$

$$\rightarrow \frac{\sqrt{2(1+\sqrt{2})}}{\sqrt{\sqrt{2}-\sqrt{2}}} = \sqrt{\frac{2(1+\sqrt{2})}{\sqrt{2}-\sqrt{2}}} \times \sqrt{\frac{\sqrt{2}+\sqrt{2}}{\sqrt{2}+\sqrt{2}}} = \sqrt{\frac{2(1+\sqrt{2})}{1}}$$

$$= \sqrt{2(1+\sqrt{2})} = \sqrt{2+2\sqrt{2}} = \sqrt{2(\sqrt{2}+1)} = \sqrt{2} + \sqrt{2}$$

$$\rightarrow \frac{\sqrt{1+\sqrt{2}} + \sqrt{\sqrt{2}-1}}{2-\sqrt{2}} - 2 = \sqrt{2} + \sqrt{2} - 2 = \boxed{\sqrt{2}}$$

$$\frac{\sqrt[4]{2^8}}{\sqrt[4]{2^8}} \times \sqrt[4]{16} \times \sqrt[4]{2} =$$

$$\sqrt[4]{2^8} \times \sqrt[4]{2^8 \times 2} \times \sqrt[4]{2^{12}} = \sqrt[4]{2^8} \times \sqrt[4]{2^{10}} \times \sqrt[4]{2^{12}} \times \sqrt[4]{2^{12}} = \sqrt[4]{2^{8+10+12+12}} = \sqrt[4]{2^{42}} = 2 \times 2^7 = \boxed{128}$$

Q1)

$$r^x (r + r^2 + r^3 + \dots + r^w) = ar$$

$$r^x (r^{-r} + r^{-1} + 1 + r + r^1 + r^2)$$

$$\Rightarrow r^x (10/100) (ar) = r^x (145)$$

$$\frac{r^x}{r^x} = \left(\frac{r}{r}\right)^x = \frac{145}{119}$$

$$\frac{145}{119} = \frac{5}{7} = \left(\frac{r}{r}\right)^x \Rightarrow \boxed{x=2}$$

Q1)

$$(a-b)^r (a+b)^r = (a-b)^2 (a+b)^2$$

$$= (a^2 - b^2)^2$$

$$= (\sqrt{a^2 - b^2} - \sqrt{a^2 - b^2})^2$$

~~$$(a-b)^r (a+b)^r = (\sqrt{a^2 - b^2} - \sqrt{a^2 - b^2})^2$$~~

$$= (2\sqrt{a^2 - b^2})^2 = 4a^2 - 4b^2$$

$$= 14(2 - \sqrt{2})$$

$$= 1(2 - \sqrt{2})$$

$$\Rightarrow \boxed{t=14}$$

V)

$$a + \frac{1}{a} = A$$

$$\sqrt{a} = B$$

$$\Rightarrow (A+B)(A-B)^r = (A^r - B^r)^r$$

$$= \left(a^r + \frac{1}{a^r}\right)^r = \left(\sqrt{a^2 - b^2} + \frac{1}{\sqrt{a^2 - b^2}}\right)^r$$

$$v = 2\sqrt{2} = \sqrt{2}(\sqrt{2} - \sqrt{2})^r$$

$$= \left(\sqrt{2} - \sqrt{2} + \frac{1}{\sqrt{2} - \sqrt{2}}\right)^r = \left(\frac{1 + \sqrt{2}}{\sqrt{2} - \sqrt{2}}\right)^r$$

$$= \left(\frac{1 + \sqrt{2} + 1 + \sqrt{2}}{1 - 2}\right)^r = (-1)^r = 14 = 8^t \Rightarrow \boxed{t=8}$$

